15. Tabela montazowa linii kablowej o$wietlenia ulicznego Wyszkéw ul. Ztotych Kloséw
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e = — szt. | szt. | szt. m m m m m m szt | szt. | kpl. | szt | szt. | szt. | szt. m szt. | szt. | szt. |dm3 | dm3
1 2 3 4 5 6 7 8 9 10 17 12 13 14 15 16 17 18 19 20 21 22 23 24 25
15 ist. 7
19,7 | 22,6 | 22,6 9,7 2 10 4
15-1 1 1 1 3 1 i 9 7 i 1 01 | 01
23,0 | 28,7 | 28,1 | 23,0
15-2 7 1 7 7 4 7 7 7 7 7 7 a1 0.7
36,8 | 42,4 | 42,4 | 36,8 2 2
15-3 7 7 1 5 1 1 g 1 7 1 0,1 0,1
t 33,6 | 39,1 39,17 33,6 2 2
15-4 7 7 1 5 7 1 9 1 7 7 0,1 0,1
4 289 | 34,2 | 342 |289| 2 2
15-5 7 1 7 4 7 1 Q9 1 1 7 0,1 0,1
25,4 | 30,6 | 30,6 | 25,4 3 2
15-6 7 1 1 4 1 1 9 1 1 1 0,1 0,1
N N 289|342 | 342 | 289 | 9 4
5 15-7 1 ) 1 4 1 T 9 7 1 1 01 | 01
g 32,6 | 38,7 | 381 |326| 4 4
\ 15-8 7 1 7 1 & il 1 7 1 7 1 017 | 0,1
24,9 | 30,7 | 30,1 | 24,9 14 4
ﬁ 15-9 7 7 7 4 7 7 9 7 7 7 0,1 0,1
27,8 | 33,17 | 33,7 | 27,8 13 8
15-10 7 7 7 4 7 ) 9 1 7 1 0,1 0,1
15-7
_ 19,7 | 22,6 | 22,6 9,7 2 10 4
14 ist. 3 7
301,3| 355,0| 355,0 | 281,3| 53 20 36
8 2 2 10 70 45 10 2 70 86 10 10 10 1,0 | 1,0
Razem
Opracowat 4|

28



